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Clue 


We have never left the Milky Way Galaxy.





Clue 


There are three main types of galaxies: elliptical galaxies, spiral galaxies, and irregular galaxies.





Clue 


Elliptical galaxies are made mostly of old stars. They have no gas and dust, so no new stars are forming.





Clue 


Some spiral galaxies have a bar structure through the middle.





Clue 


Scientists believe that spiral galaxies have super massive black holes at their centers.





Clue 


Spiral Galaxies can have one arm to four or more.





Clue 


Irregular galaxies are thought to form from the collision of two other existing galaxies. They have no regular structure to them.





Clue 


Spiral galaxies have lots of dust and gas in them. These regions of dust and gas are nebulas where new stars are born.





Clue  A Spiral Galaxy 


�





Clue # Spiral Galaxy


�





Clue Barred Spiral Galaxy


�





Clue This is a photograph of the Milky Way Galaxy sent to us from aliens living in the Andromeda Galaxy.


�





Clue This is the visible part Milky Way that we can see from Earth.


�





Clue


A galaxy is a group of stars, gas and dust bound by their common gravitational pull.





Clue


Trying to map out the Milky Way Galaxy while inside of it is like trying to draw a complete picture of a forest while tied to a tree.





Clue


“One gets a rough idea of the shape of the Milky Way galaxy by just looking around--a ragged, hazy band of light circles the sky. It is about 15 degrees wide, and stars are concentrated fairly evenly along the strip.” Retrieved from � HYPERLINK "http://www.scientificamerican.com/article.cfm?id=how-did-scientists-determ" �http://www.scientificamerican.com/article.cfm?id=how-did-scientists-determ� 





Clue


By observing the sky, we can determine the Milky Way is a flattened disk. If it were not a flattened disk, it would look different.





Clue


Harlow Shapley measured globular clusters around us and found that they were concentrated near the constellation Sagittarius. 





Clue


It takes the sun 226 million years to orbit around the center of the galaxy. However, we are moving at over 400,000 miles per hour!





Clue


We live about 30,000 light-years from the center of the Milky Way Galaxy.





Clue


Our solar system is on a spiral arm of the Milky Way Galaxy.





Clue


Our closest galactic neighbors are the Andromeda Galaxy, the Large Magellenic Cloud, and the Small Magellenic Cloud.





Clue 


The Milky Way Galaxy is about 100,000 light years across.





Clue


The Milky Way Galaxy and our nearby neighbors form the Local Group of galaxies.





Clue


The Local Group is located in the Virgo Supercluster of galaxies.





Clue


Galaxies tend to group together.





Clue


The part of the Milky Way Galaxy we can see is the Sagittarius Arm.





Clue


Each arm of the Milky Way Galaxy is named.








